A

oln

ol
N

@ 3.5kg A +3.5kg

® 2kg =7} +2kg

] +1000 €

[e)
=

® < 1000



2x +4 =10-4x

@ 2x-4x=10+4

® 2x+4x=10-4

@ 2x+4x=-10-4

@ 2x+4x=10+4

® 2x-4x=10-4



Z A Agat= b = g

U] b s e
b—a°| %k
A= =t
50 ~ 607" | 15
60°TF ~ 70T [ 20
70 ~ 80 | 18
80°F ~ 90 | 6
90°™% ~ 100" | 1
B 60
® 20 @ —20

Ago Agdte a, =571

& ahu?



sholat,

g7

o, BC 2] Zo]

dHAA F =] e

©
=

ot

4.

=
\
\
£
S}
o o
AL /
=
&)
<& %
~§--— g
L0

cm






6.

x =804 2 & uj, AFART} 7P 2 5Tt HEE

® 100x - x @ 100x — 10x

@ 1000x — 10x ® 1000x — 100x

ol
rr

]_

@ 1000x — x

1>

rlo



1 4 5 3 5 7 =
(~gr+5-2)+ (o - T) & vmsl @ o, xol Azel
y ol Alsof g7

11 4 4 11 13
©-3 @-3; O3 ®> 0



x—2y+5=02 a7} (k,1) & =, k ] 27

@ -1 ® 0 @ 2 ® -2



5x+3<18
-3x+2<0

AYR S {

=
o

ojn

® 3

@ 2






@ 8 744
@ 14 7}HA]

@ 10 714
® 16 714




12. the T30l4 DABCD 7} 241218 W, ,0DC 9] 2715 Fafolet




13. o2 I F M 2 AB 9 5Ho|1, A
MN // BC ©]t}. x,y o] Zol& +slofet.

cm

g ©

1L

<
I

cm



® V6

@ b

® 2

@ V3



15. th& F oAPEA 22 4203 = 0 9] 2

O -1 @ 0 @1 @ 2



16.

A
jubi

Vi =

L
3
I

(V]

L
%
[

s ), B()C =
B 4
)/\ O]_,]O E] \/_ [©)
5 1
= Uﬂ X —/]
) H;\'-
3 A7} 2 7 5}



A Z+4+74e ABC € AB,C,; 1A

1 a1
A
BiC; =5, AB; = 134 o, :094%%
) AB
stof 2},

17.

4

filo




18. o2 19HolA 1AQC =50°, /BOC =40° & uf, /APB 9 37|&
Tatelat,




19.

x9] gkol 1, 2, 3 0], y o] gko] 10144 6]
gl A2
@ y=5x-1 @ y=-3x
7
@y*; @y*i

st

®y

o, o= 5y 7hx 9

-X+95



® 10cm?

@ 25cm?

® 20cm?



21.

01]:1[_1 /\—l]—% (—xy2z4)5 o=z ]’}I—T"%E‘iq %O] (4x4y5z3)2 O‘I Qc}dq ;_q%
42 FotH?
D —16x13y20726 @ —8xTyls 2! —i‘;
3,14 16x
@ -2

16 ® 8x16y10:8



22. Hol7} thgwt 2L Aol Azl ot
3x—3 U W, 7}z0] Lol S x o TRt YA

= LERE?

® x-1
@ x-4

@ x+1 ® x-3

® x+14

Yo|=3z2-152+12




23. oAy = % +2x+10 O HAYLE M,y =322 +6x-5 9
A% m ol 2w, M+ m O ghE Totelet,

D S
=%



e — mail 9] 7|5 YERH

Tor

ol

A

Bo
A

X

10 | 10 | 11 | 10

10




25. o 193} Zo] &= A AB, CD 9
Aol H P oA T PA =
4cm, PC = 3em,CD = 7em 9 O, x
o gre?
P‘\3cm/\/
@ 2.5cm @ 3.5cm
® 4.5cm @ 5.5cm

® 6.5cm



